Y4 — Autumn — Block 4 — Multiplication and Division B — Answers

Question Answer Marks Notes and guidance
Award 1 marks for all three
correctly matched.

6 bags of 6 6 6
8 sweets
6 bags of 8 g 8 8 1
6 sweets
8 bags of 8 8 8
8 sweets
63
9 9 9 9 1
Award 1 mark for two or
three correctly indicated
8 |x| 4 32 .
responses with no more
than one error.
4 |x| 8 32
2
32 (=] 8 4
42 |=| 4 8
108 1
56 1
Accept 1 mark for two
answers correctly indicated
(18) 26 (s) 16 (126)| 5 | withnomore thanone
error.




Y4 — Autumn — Block 4 — Multiplication and Division B — Answers (continued)

Question Answer Marks Notes and guidance
3 |x| 8
OR 1
8 |x| 3

Award 1 mark for an

£12 X 7 = £84 spent on bags appropriate method with
£120 — £84 = £36 spent on mugs 2 no more than one
£36 +~ £9 = 4 mugs arithmetical error.

Award the mark for both

answers correctly identified
1 2 3 @ @ 12 1 with no other arithmetical

errors.

0 1
Award 2 marks for a correct
answer of 84

84 2 Award 1 mark for an

appropriate method with
no more than one
arithmetical error.
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